Now randomly choose a few integers and multiply
your empirical mass by them.

%) .04 s el
AR S-S

R 2“‘62
Write the molecular formula here ____~
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2. The first column shows ( molecular / empirical) formulas.

3. The second column shows ( molecular / empirical) formulas.

substance A CzHs CioHso
substance B C-H> CioHio
substance C CsH«O CsH:O
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aed Find the empirical formula
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Fmd what the mass wobe for a mole of this Now randomly choose & few integers and multiply

empirical formula. your empirical ma‘ais by lth’:lm 5
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( 6. What is the empirical formula of a carbon-oxygen compound, given thata 95.2 g sample of the
compound contains 40.8 g of carbon and the rest oxygen?
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f iron oxide was found to contain 1.116 g of iron and 0.480 g of oxygen. Its molar
(6) mass is roughly 5 x as great as that of 6Xygen gas. Find the emplr;ca) fqrmula and the

molecular formula of this compound. = a
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Key to understanding the cartoons on this sheet:

1 chlorine atom 1 hydrogen atom 1 oxygen atom 1 nitrogen atom _ | 1 carbon atom
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‘8. Calculate the molecular 5ass of the molecule shown at the
: C40zPg
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9. What is the molecular mass of Fe2(COs)s.
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